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[LE3ER e =
FRvEE A T I E BRI A 77254 y = 1.9244x + 0.0057, R2=0.9983; x NARAEMIKSE (umol/mL), y J9W %18
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1. My K GLS itk
BAE G & mL IE CGE) & min BALS Z B4 S inmol &E XN — AN 187, GLS(nmol /min /mL)
= (AA-0.0057) +1.9244xV 3 +V ££+Tx1000=363.7x(AA -0.0057)

2. HZ MBI GLS W

(D) HEAERRRE .
BALE S B mg R min A EBEIE A G Inmol 5458 SN — AN IE 7T A
GLS(nmol /min /mg prot)= (AA-0.0057) +1.9244xV [ 5+(V FExCpr)+Tx1000=363.7x(AA -0.0057)=Cpr.

(2) IEFEAREEE T
HALE N B g HEE min AR BERLA K Inmol € XCN— /MBS J1 507 .
GLS(nmol/min /g #£#)=(AA-0.0057)+1.9244xV JZJ&+(WxV £V £ E.):Tx1000=363.7x(AA -0.0057)+W

(3) IZYHpH BRI 2 THE
BALE e 1 A4 B R min 40 EUBEIE AR R Inmol & E A — AN B IE T FLAL
GLS(nmol/min/10% cell)=(AA-0.0057)+1.9244xV JZ H+(500xV F+V FE i) +T x1000 =0.7274x%(AA -0.0057)
VEEE: IIANRBOEAR, 1mL; T: RN, 60min; V A KA REAR, 1.05mL; VA AR
iR B REARR, 0.025mL; Cpr: FEATFRIKEE, mg/mL: W: FEAJE, g: 500: 440 REEL,
500 /3; 1000, pmol | nmol #:55 R %K.




